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Name the following structure according to IUPAC system of nomenclature; (12 pts.)
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Exemplify for Anomers! (3 pts.)

Esemplify for diasteromers! (5 pts.)
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mechanism for the following reaction. (10 pts.)
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8- How many stereo-isomers are availa
b- What is the effect of its treating with ozone?

= It is  fat-soluble? How to make it water-solable?
d- How many allylic and bearylic carbons are there?
e What is the effect of its treating with butadiene?

1 (10 pis.)

' COH

: n- It ks classified as acidic drug? Why
b- Draw its potassinm salt.
c- Itis optically inactive drug? Why

N d- Treating with Mg/ ether thea hydrolyzed to give what.?
g ¢- Explain the intramolecubar nentralization,
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Q107 True or False (Y 0r X) (10 pts.)

* | | Halogenation of allylic or bensylic system is easier than ethane,
b | | Amines are more basic than nitro tompounds,
e | lwmhmlﬂkﬁhmm.
d- | 1 A compound with 2 mchiral cemters and a plane of symmetry is knowy
e | !Hﬂﬂ:hmﬁmﬂﬂﬂﬂiﬁmmﬂﬂhﬂlﬁh.
£ 1 | Dehydration of hexanol is casier than of nirohexaol,
e lmuﬁnmﬂ:pnﬂ:hl’hnmm;ﬂ
b | lmmawmmmrm

Qg (14 pen.)

L The acidic bydrolysis of epaxides keads io the formation of
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i) IR, 25, 3R and 45
bl 15, 25, 38 and 48 o) 15, 2R, 35 and 45
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